Government of India
Ministry of Defence
Ordnance Factory Board
10A, S.K. Bose Road
Kolkata - 700001

CENTRALISED VENDOR REGISTRATION CERTIFICATE

This is to certify that M/s SWATHIS INDUSTRIES, PLOT NO 96 SUBASHNAGAR JEEDIMETLA HYDERABAD Telangana is
registered at Ordnance Factory Board for following Items.

Sl. Factory / Unit Item Nomenclature Initial Date of

No. Registration

1 Gun and Shell Factory BIPOD ASSEMBLY OR GUN MOUNT COMPLETE | 29-04-2019
TO DRG F1303 028700 DOC NO 304059968 IN
FINISHED CONDITION DC NO 19568 W DT 30 01
17 Description : BIPOD ASSEMBLY OR GUN
MOUNT COMPLETE TO DRG F1303 028700 DOC
NO 304059968 IN FINISHED CONDITION DC NO
19568 W DT 30 01 17 [ENR Registration]

2 WASHER TO DRG No 10 01 08 KP 029 IN 29-04-2019
FINISHED CONDITION Description : WASHER TO
DRG No 10 01 08 KP 029 IN FINISHED CONDITION
[ENR Registration]

3 RING GOST 13943 86 V55 Description : RING GOST | 29-04-2019
13943 86 V55 [ENR Registration]

4 CLAMP Description : CLAMP [ENR Registration] 29-04-2019

5 WASHER A8X1 5 25 029 GOST 1137178 29-04-2019
Description : WASHER A8X1 5 25 029 GOST 11371
78 [ENR Registration]

6 CANVAS COVERS CURRENT HOSE COVER DRG 29-04-2019
No AK 630 SB Description : CANVAS COVERS
CURRENT HOSE COVER DRG No AK 630 SB [ENR
Registration]

7 CANVAS COVERS Description : CANVAS COVERS | 29-04-2019
[ENR Registration]

Page 1/4



SECTOR RIM ( AK 630 101.26) FORGING TO DR
TO SPECN ALLOY A MG6.GOST: 4784-97
Description : SECTOR RIM ( AK 630 101.26)
FORGING TO DR TO SPECN ALLOY A MG6.GOST:
4784-97 [ENR Registration]

29-04-2019

10

WIRE Description : WIRE [ENR Registration]

29-04-2019

11

BOLT 2M10 8gX40 109 40X 209 GOST 7798 70
Description : BOLT 2M10 8gX40 109 40X 209 GOST
7798 70 [ENR Registration]

29-04-2019

12

SUPPORT OR STAND Description : SUPPORT OR
STAND [ENR Registration]

29-04-2019

13

BOLT M6 8GX45 109 40X 029 GOST 7798 70
Description : BOLT M6 8GX45 109 40X 029 GOST
7798 70 [ENR Registration]

29-04-2019

14

NUT 2 M10 6G 10 40 X 029 GOST 5915 73
Description : NUT 2 M10 6G 10 40 X 029 GOST 5915
73 [ENR Registration]

29-04-2019

15

NUT M 10 6G Description : NUT M 10 6G [ENR
Registration]

29-04-2019

16

SEPARATOR Description : SEPARATOR [ENR
Registration]

29-04-2019

17

SCREW 40CR POINT 026 Description : SCREW
40CR POINT 026 [ENR Registration]

29-04-2019

18

PIN 50CD6 Description : PIN 50CD6 [ENR
Registration]

29-04-2019

19

INSERT Description : INSERT [ENR Registration]

29-04-2019

20

NUT M4 6G 10 POINT 40 KH 026 GOST 5927 70
GRADE EN 19 Description : NUT M4 6G 10 POINT
40 KH 026 GOST 5927 70 GRADE EN 19 [ENR
Registration]

29-04-2019

21

BOLT TO SPCN M8 8G X 85 109 40 X POINT 029
Description : BOLT TO SPCN M8 8G X 85 109 40 X
POINT 029 [ENR Registration]

29-04-2019

COVER TO DRG No AK 630 102 80 IN FINISHED
CONDITION Description : COVER TO DRG No AK
630 102 80 IN FINISHED CONDITION [ENR
Registration]

29-04-2019

Page 2/4




22

23

24

PLATE TO DRG No AK 630 102 67 IN FINISHED
CONDITION Description : PLATE TO DRG No AK
630 102 67 IN FINISHED CONDITION [ENR
Registration]

29-04-2019

NUT M10 6G 10 40 029 GOST 5919 73 Description :
NUT M10 6G 10 40 029 GOST 5919 73 [ENR
Registration]

29-04-2019

IMPACT PROTECTION CONSISTING OF IMPACT
PROTECTION LT P No F1303 026871 IMPACT
PROTECTION RT P No F1303 026881 STRAP FOR
IMPACT PROTECTION P No F1303 028590
DOUBLE SIDE ADHESIVE TAPE F1303 028990A
CLEANING SACHETTE F1303 029050 REF F1303
028970 IN FC Description : IMPACT PROTECTION
CONSISTING OF IMPACT PROTECTION LT P No
F1303 026871 IMPACT PROTECTION RT P No
F1303 026881 STRAP FOR IMPACT PROTECTION
P No F1303 028590 DOUBLE SIDE ADHESIVE
TAPE F1303 028990A CLEANING SACHETTE
F1303 029050 REF F1303 028970 IN FC [ENR
Registration]

28-04-2021

25

26

27

28

29

30

31

32

Heavy Vehicle Factory

WASHER TO 6106110045 Description : WASHER
TO 6106110045 [ENR Registration]

09-11-2019

ADJUSTING WASHER TO 6206004195 Description :
ADJUSTING WASHER TO 6206004195 [ENR
Registration]

09-11-2019

SHIM TO 6206801124 Description : SHIM TO
6206801124 [ENR Registration]

09-11-2019

NUT TO 6206805038 Description : NUT TO
6206805038 [ENR Registration]

09-11-2019

RING A25 65G CHEMICAL OXIZIDIING OILIN TO
7043728512 Description : RING A25 65G CHEMICAL
OXIZIDIING OILIN TO 7043728512 [ENR
Registration]

09-11-2019

RING B60 65G CHEMICAL OXIDIZING PHOSPHA
TO 7043765420 Description : RING B60 65G
CHEMICAL OXIDIZING PHOSPHA TO 7043765420
[ENR Registration]

09-11-2019

GASKET TO 7106002005 Description : GASKET TO
7106002005 [ENR Registration]

09-11-2019

GASKET TO 7106002009 Description : GASKET TO
7106002009 [ENR Registration]

09-11-2019

Page 3/4




33

Small Arms Factory

34

35

36

37

Lower Hand Guard Assembly for CQB 5 56x45 10-06-2024
MM[7012670011]

Cocking Handle for JVPC[70] 10-06-2024
PISTOL GRIP FOR JVPCJ[70] 10-06-2024
RAIL SK 6548 TE[70] 10-06-2024
OILER ASSEMBLY SK 6641 TE[70] 10-06-2024

Registration No.
Initial Date of Registration
Downloaded at

Conditions of Registration:

NOTE: It is only a registration of vendor. It does not grant any special supply status to the Vendor. It is for the purpose of

: AEZPB9631B
: 29-04-2019
: 20/09/2024 09:34 am

This Registration has been carried out based on self-declared documents furnished by Vendor.

Changes, if any, in Address or constitution of the Firm, major Machinery/Equipment or Technology should be intimated to the

Registration Authority immediately.

The Registration Authority reserves the right to cancel this Registration Certificate at any time.
Registration will be valid for 05 years with automatic renewal unless cancelled on account of administrative reasons.

This is a system generated certificate. Hence no separate signature is required.

participation in Tender process only.

Page 4/4



http://www.tcpdf.org

